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(A) 1852 (B) 1899

(C) 1766 (D) 1856

Which one of the following is not correctly

matched?

(A) Vijay Singh Pathik — Todgarh Jail

(B) Arjun Lal Sethi — Belur Jail

(C) Kesari Singh Barhath — Hazaribagh Jail

(D) Jorawar Singh — Bareilly Jail

Rajasthan Mabhila Parishad was founded at

Udaipurin 1947 by -

(A) Aruna Roy (B) Indumati Goenka

(C) Durgawati Devi (D) Shanta Trivedi

Jamnalal Bajaj was the one who set up -

(A) Jaipur Prajamandal (B) Mewar
Prajamandal

(C) sikar Prajamandal (D) Marwar
Prajamandal

From which session, Indian National Congress
started to support Freedom Movement of
Princely States?

(B) Haripura

(D) Lucknow

Who was the Viceroy of India when the British

India’s capital was shifted from Calcutta to

Delhi?

(A) Lord Ripon (B) Lord Dalhousie

(C) Lord Harding (D) Lord Dufferin

Under the leadership of which leaders was the

Kheda Peasant Movement headed?

(A) Gandhiji and Vallabh Bhai Patel

(B) vallabh Bhai Patel and Vasudev Balwant
Phadke

(C) Gandhiji and Vijay Singh Pathik

(D) Sitaram Das and Vijay Singh Pathik

In which language was the first issue of journal

‘Ghadar’ published?

(A) Urdu (B) Marathi

(C) Punjabi (D) Gujarati

(A) Nagpur
(C) Amritsar

(A) 1852 (B) 1899

(C) 1766 (D) 1856

g & & @F |1 g™ gafera T8l
27

(A) fasra Ri 9fde — e oo HY
(B) 3STelTel WSl — IR i

(C) ot Rig IRES — EIRIENT Sled

(D) SIRTeR g — el ot

ISR AfGSAT URYE Bl YT, ISIR A
1947 9, fod® gRT 8% o1?

(R) 31501 T (B) SgHT TR

(C) grfaet 3@ (D) =it R
STHATATS §oTTol H RATIAT P off —

(A) SR goed  (B) HaTS UNIed

(C) T goTTHS e (D) ARATE USITHS

ARAT TR B 4, b erforaes 3 <=
RIradi & Tad=ar anarad &l F9d9 <A1 URY
fopar?

(A) TR (B) BRYxT

(C) aryawr (D) T

fafesr IRT @ ISR BT HaAsar I ol
AR Py O & F99 IRT BT IR
PI oqT?

(A) dre Ru= (B) dfe SoTgISl

(C) fs =IfST (D) TS SBRA

ST fham arfaler fod Al & A & gan
o7?

(A) TS QIR docty 918 U

(B) 9o WIS UCH 3R dgad dotdd hed
(C) TSl &R fasra Rig ufdrs

(D) HrarR™ TN MR fasra Rig ufdrs

TER’ STHA BT UBT 3 fbd AT § Yh1iIra
gaT e

(A) v (B) 7S

(C) wrorrdh (D) TR
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10.

11.

12.

13.

14.

15.

16.

Governor General’s Council of India tor the Tirst

time?

(A) Indian Council Act - 1919

(B) Indian Council Act - 1909

(C) Indian Council Act - 1861

(D) Indian Council Act - 1896

With the efforts of which of the following, the

‘Age of Consent Bill’ (1891) was passed?

(A) B.M. Malabari (B) Bal Gangadhar
Tilak

(D) Mahadev Govind
Ranade

Where did Thakur Khushal Singh lead the

rebels, during the Revolt of 18577

(A) Kota (B) Nasirabad

(C) Aauwa (D) Erinpura

Who wrote the ‘Early Chauhan Dynasties’?

(A) G.A. Grierson (B) Dasharatha

Sharma

(C) G.H. Ojha (D) G.N. Sharma

Who among the following famous saints, was

born in Alwar district of Mewat region?

(A) Sunderdas (B) Garibdas

(C) Laldas (D) Hariramdas

‘ljlaas Khas’ was established by -

(A) Maharaja Banne  (B) Maharaja Ajeet

(C) Harbilas Sharda

Singh Singh

(C) Maharana Sajjan (D) Rana Bhagwant
Singh Singh A

Match the following — E
Handicraft Product Place

(1) Badla (i) Jaipur

(2) Namda (ii) Leta

(3) Paw Quilt (iii) Jodhpur

(4) Khesala (iv) Tonk

Code -

(A) 1-iii, 2-iv, 3-i, 4-ii
(C) 1-iii, 2-iv, 3-ii, 4-i

(B) 1-iv, 2-iii, 3-i, 4-i
(D) 1-iv, 2-iii, 3-ii, 4-i
Which Ruler of Marwar did not accept the
suzerainty of the Mughals?

(A) udai Singh (B) Ajeet Singh

(C) Rao Chandrasen (D) Rao Amar Singh

10.

11.

12.

13.

14.

15.

16.

TAUH H [hdl TYl7
(A) YR gRyg FfSf s — 1919

(B) wrdir ufRug arfef — 1909

(C) ¥R uRug rfef=m — 1861

(D) YR uRkue srfSf=H — 1896
frafafaa § 9 fovs vl 9 T 3%
T 9 (1891) urRa garr?

(A) 91.UH. ATATERI (B) 917 TR faid
(C) e=faetd eIReT (D) HgTed TMfd— VTS
1857 @ fAsIE & THY, SR Hea [ 7 fba
e fagiEdl &1 ged fhar?

(A) PleT (B) TRIRTETS

(C) amsar (D) TRYRT

3ciT AIBH g & ofdd & —

(A) o, s (B) T3y vHl

(C) Sh.u=r. 3= (D) SH.UA. I

AT &3 P TR Tl §, o7 o1 a1el uiig

TG o —

(A) g<xa™ (B) TRIgaT™

(C) <ATete™™ (D) BRRMe™

SOTaINT T’ BT e fdhar o1 —

(A) FgRIST 91 RiE A (B) ARG 3roiid g

Sl

(C) HERIOT oo+ 47 (D) 70T e~ g 7

Gl

gAfera aiforg —

BEIRICY ST EDIE
(1) STt (i) STIYR
(2) FHET (ii) <7t
(3) UTa TS (iii) STreTqR
(4) =TT (iv) TfH
E?Cr p—

(A) 1-iii, 2-iv, 3-i, 4-ii  (B) 1-iv, 2-iii, 3i, 4-ii
(C) 1-iii, 2-iv, 3-ii, 4-i (D) 1-iv, 2-iii, 3-ii, 4-i
ARATS & [ eMEd A, AT Bl SRl
WIHR T8l DI A7
(A) 35T fHE

(C) R1@ T

(B) 3rolid g
(D) 319 IR RiE
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Dictionary Kl
(C) Rajasthani Folk life (D) Rajasthani Folk (C) TSRATT SlToilad (D) TSR ATl
art Kl Kl

18. Who is the Kuldevi of Bhati dynasty of 18. SR & WISl JSEY B Heedl DA
Jaisalmer? g7
(A) Latiyal Mata (B) Tanotiya Mata (A) FAfeaTer A1 (B) g=iifear Arar
(C) Avari Mata (D) swangiya Mata (C) masy HaT (D) Zif¥rar Arar

19. Who was the last official ruler of Princely state 19. q Raa @ =it Mi®IRe e HiA
of Bundi? o7
(A) Maharao Raja Ram (B) Maharao Raja (A) HE8RTG ST M (B) HERTA XTOTT 98GR

Singh Bahadur Singh g g
(C) Maharao Raja (D) Maharao Raja (C) HERTd TSI IgER (D) HERTE TSIl STa™]
Raghubir Singh Ishwari Singh B g

20. Where is Haridev Joshi Journalism and Mass 20. gRag SR FHIRAT Ud S-NaR fagafaerer
Communication University located? Pl Rerd 87
(A) Banswara (B) Udaipur (A) giaarsT | (B) IR H
(C) Jaipur (D) Alwar (C) SrgR # (D) 3refeR H

21. The main temple of which folk deity is situated 21. et Wi (Welra!) | P9 dle I9dr &1 §=
in Bengti village (Phalodi)? Afeer Rera 87
(A) Tallinath Ji (B) Hadbu Ji (A) deci=TerSl (B) ggeuil
(C) Pabu Ji (D) Mallinath Ji (C) dresit (D) Heoi=rersi

22. In which district of Rajasthan the famous  22- T¥gRI g Silgs oM & fbd e #
Gurudwara Buddha Johad is located? JraRerd &7
(A) Jaipur (B) Sri Ganganagar (A) STIYR (B) 8T TR
(C) Ajmer (D) Kota (C) 3R (D) preT

23. What is the name of the picture of Lok Devi 23. fidli gRT, dSd! & a8 & 999 B8R &I TR
made by Bhils, on the wall of the house at the R g9 ST a1l <l <dl & o &1 7 Bal
time of girl’s marriage? ST 87 -
(A) Tehnisha (B) Mandana (A) aeferem (B) AT h
(C) Phad (D) Bharadi (C) B (D) WRTSI

24. The memorial of which of the following is built 24. feRirsTe g9 @ UM §R UTSH Ul @ U
on the platform built near ‘Padan pol’, the first = EEGREEN = & 9 foder RS a9 g
gate of the Chittorgarh fort? g7
(A) Jaymal Rathore  (B) Patta Sisodiya (A) SIS VTSI (B) g=r RrsAifean
(C) Kalla Rathore (D) Rawat Bagh Singh (C) Foell TS (D) ~mad s g

131B * Page 4 of 24



List—I List—lI
(a) Govind (i) Devmurti Prakaran
(b) Natha (ii) Dwar Deepika
(c) Mandan (iii) Vastumanijari
(d) Kumbha (iv) Sangeetraj
Code -

(A) (a)-ii, (b)-iii, (c)-i, (d)-iv
(B) (a)-iv, (b)-ii, (c)-iii, (d)-i
(©) (a)-iii, (b)-ii, (c)-i, (d)-iv
(D) (a)-iii, (b)-ii, (c)-iv, (d)-i

i T
(a) A= (i) ST g
(b) =T (ii) R <Mfoepr
(c) AU (iii) ATRTHSIRT
(d) FwT (iv) HfaRTST
e —

(A) (a)-ii, (b)-iii, (c)-i, (d)-iv
(B) (a)-iv, (b)-ii, (c)-iii, (d)-i
(C) (a)-iii, (b)-ii, (c)-i, (d)-iv
(D) (a)-iii, (b)-ii, (c)-iv, (d)-i

26. \Which musical instrument is used during the 26. AH—PHAT TIARIY Sl P B & TAT H
recital of folktale ‘Devnarayaniji ki phad’? PII—T eI T YIANT H AR ST 22
(A) Manijira (B) Chang (A) HSTRT (B) =T
(C) Jantar (D) Khadtal (C) I=R (D) wgdret

27. The tradition of Rajasthan, in which folk drama 27. ISR BT g8 URAR], 5194 gor B IR B
is performed by the women of the house after WY T O @ are TR @) Rl gRT e
;c:f;ﬁeirf)oms procession leaves the house, is o T
(A) Swang (B) Khayal (A) ZarT (B) T=Tet
(C) Tutiya (D) Rammat (C) cfear (D) 3=d

28. Which Sabha was founded by Swami Gopaldas 28. {1907 ¥, & H WM MU =1 fsd |1
in Churu, in 1907? BT RYAT DI AT?
(A) Bal Bharat Sabha (B) Desh Hiteshini (A) dTef 9RA |41 (B) Tor Aol &

>abha (©) fRTmIR T (D) TR T

(C) sarvhitkarini Sabha (D) Paropkarini Sabha

29. Who was famous as poet and painter Nagari 29. %fq vd FEdR ARG & ®©9 § B9 gRig
Das? o7?
(A) Krishnadev (B) Raja Sawant Singh (A) FoRT (HINNIRCICE R
(C) Vrindavandas (D) Rana Kumbha (C) g<1ae™ (D) ToTr BT

30. jaydayal Soni and Chetram are related to - 30. ST | 3R AR HEfd € —
(A) Turra Kalangi (B) Jaipuri Khayal (A) TRI FHeill T ¥ (B) ST &1 |

Khayal ; ;

(%) SheZhawati Khayal (D) Hela Khayal © e ¥ (D) Tl e |

31. with which art is Kripal Singh Shekhawat 3. pua R TEEd &1 G= B9 dar |
related? g7
(A) Thewa Art (B) Kundan Art (A) a1 FHalr (B) = Tl
(C) Terracotta (D) Blue Pottery (C) SXTPIeT (D) & dfewl

131B * Page 5 of 24



33.

34.

35.

36.

37.

38.

39.

40.

(A) Battle of Khatoli- (B) Battle of Khanwa -
1517 1527

(C) Battle of Sammel - (D) Battle of Harmada
1562 - 1557

From which of the following archaeological
sites, the coins of the Greek ruler Menander
have been found?

(A) Balathal (B) Ganeshwar

(C) Bairath (D) Ahad

Who is the writer of ‘Futuhat—I-Alamgiri’?

(A) Firoz Shah Tughlaq (B) Ishwardas Nagar
(C) Aurangzeb (D) Dara Shikoh

Who was the founder of the Rajasthan School

of Arts?

(A) Sawai Jai Singh (B) Maharaja Sawai
Ram Singh Il

(C) Man Singh | (D) Mirza Raja Jai Singh

The south-west monsoon starts retreating

from Punjab plains by -

(A) Mid-July (B) Mid-October

(C) Mid-September (D) December

The Prime Meridian of India do not pass

through which of the following state?

(A) Uttar Pradesh (B) Madhya Pradesh

(C) Chhattisgarh (D) Tamil Nadu

Which one of the following is not matched

correctly?

(A) Mango Showers - Tamil Nadu

(B) Cherry Blossom - Karnataka

(C) Nor'westers - West Bengal

(D) Bardoli Chheerha - Kerala

The Iron Steel Industry centre located near

coalfields is -

(A) Bhadrawati

(C) Jamshedpur

(B) Bokaro
(D) Salem

Which among the following (Crop — Producing

State) is not correctly matched?

(A) Rice - West Bengal (B) Wheat - Uttar
Pradesh

(C) Tea - Gujarat (D) Jute - Assam

33.

34.

35.

36.

37.

38.

39.

40.

(A) Hrdlell ®T Y& — (B) GIFdl &f & —

1517 1527
(C) Ial &1 g — (D) TRART & & —
1562 1557

frferRad @ 9 fw qRIaTfcas et 4, AT
NG AR B e UTd g8 2°

(A) dretTeret (B) TUIgeR

(C) RT3 (D) e
"THJBTA—U—3TTHIRI & ol DI o7

(A) RIS e el (B) $¥aREN ANR

(C) JRTS (D) TRT Rreprs

ORI ¥hel 3 Jed &l T s
BHI?

(A) Tars ¥ g (B) HERTSIT {dTS 9
R 1l
(C) Rz | (D) fat <o o1 Rig

USId & HHT ATl | AFYA UTe g+ ardl

g —

(A) Feg—geTTg H (B) weg—araar ¥

(C) weg—ycdier o (D) fagax o

TRT & YIH <oaR efaRad § 9 b4
RIS ¥ 8] I[oiRdl &7

(A) ITRYSYT (B) Heayeer

(C) BierTe (D) afierTg

frafeiRed & 9 dFar w1 gHferd T80

87

(A) F7 e — qfrerrg
(B) o) =TT — PHAlCH
(C) Hfdves — uf¥erit §1a
(D) IRETCT BIST — B
DI &3 & U Rerd dlg 3T SENT o
3

(A) 9gTaar (B) 9IpRI

(C) STHRITYR (D) e

1 #§ F P31 (B — SATGH ) e

gHford T8l 27?

(A) g — gRem (B) g — STRUSY
T

(C) Trg — ORI (D) S[e — 3raH

131B AN

Page 6 of 24



42,

43.

44,

45.

46.

47.

48.

49,

Himalaya Himalaya s
(C) The Shivalik (D) The Trans- E
Himalaya

The Clouded Leopard National Park, is situated

in which of the following state?

(A) Madhya Pradesh  (B) Tripura

(C) Assam (D) Himachal Pradesh

The Sundari and Mangrove tree are found in -

(A) Semi desert forests (B) Tidal forests

(C) Tropical evergreen (D) Monsoon forests
forests

Balaghat, Chhindwara and Jhabua districts of

Madhya Pradesh are known for the production

of which of the following minerals?

(B) Manganese

(D) Bauxite

(A) Copper
(C) Mica

Which one of the following (Lake — State) is not
correctly matched?

(A) Lonar - (B) Chilka - Odisha
Maharashtra
(C) Pulicat - Karnataka (D) Bhimtal -

Uttarakhand
What is the decadal growth rate of population
in Rajasthan according to Census 20117
(A) 32.97% (B) 28.44%
(C) 28.41% (D) 21.31%
Which one of the following (Lift Canal -
Beneficiary Districts) is not matched correctly?
(A) Kunwarsen - Ganganagar, Bikaner
(B) Kumbharam Arya - Jaisalmer, Barmer
(C) Dr. Karni - Bikaner, Jodhpur
(D) Jai Narayan Vyas - Jaisalmer, Jodhpur
Which of the following sand dunes, develop in
the parallel direction to the prevailing wind?
(A) Seif (B) Parabolic
(C) Barkhan (D) Transverse
The Kalaguman and Tikhi area is known for the
production of -
(A) Garnet

(C) calcite

(B) Emerald
(D) Soapstone

42,

43.

44.

45.

46.

47.

48.

49,

(C) Rrarferd &t (D) grI—T&HTera o1

gfie dga I SaM, v # 9 fae T
H Rerg 87

(A) HEYel (B) f3gRT

(C) 3w (D) fearaet gawr

gra¥l 3R {9 g&7 Uy Sird § —

(A) org IF ot F  (B) A o=

(C) SwT Bfeawia (D) A a4l H
BEERNCE

fr=ferRad & 9 fow @ffel & SR =g ST

S 27?

(A) et (B) H=iSt

(C) arydh (D) gig<ATSCe

fr=ferRaa % & &4 A1 (§d — I5) gHferd

T8l B7

(A) IR — FERTE  (B) fresmr — anfsem

(C) geitae — dica (D) WAt —
ITRIETS

SIOMET 2011 & AR, ISR H SHE]
DI TG gl X FAT A

(A) 32.97% (B) 28.44%

(C) 28.41% (D) 21.31%
frferRad & o a1 (fofde Fex — amrfad
foTer) gHfera w8l 27

(A) IRV — TR, DR

(B) HRIRT 3 — IR, dIeH]

(C) f. FRON — dBFR, SEYR

(D) 51T ARV A — SR, SITEYR
frfeRed § 9 &9 A IIgd WM, vt
gaq &I fawn & AMmR e 8 87

(A) ¥ (B) Rraiferd

(C) &M (D) SrgwRer
BIATAT IR TRAT &8F oo SRIES]
2g M O 2 |

(A) TFe & (B) =TT &

(C) deTSe & (D) €T TR &
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51.

52.

53.

54.

55.

56.

57.

(B) Ramgarh, Alwar
(D) Ramgarh, Sikar

(R) Ramgarh, Baran

(C) Ramgarh,
Jhunjhunu

Which one of the following (Wildlife Sanctuary

- District) is not correctly matched?

(A) Sorsan - Baran (B) van Vihar -

Dholpur
(C) Band Baretha - (D) Kesarbagh -
Bharatpur Udaipur

According to Koppen’s classification, Jalore,

Sikar, Nagaur and Jhunjhunu are included in

which of the following climatic region?

(A) Bwhw (B) Bshw

(C) Bwkw (D) Bskw

Arrange the following Mountain peaks of

Rajasthan in descending order according to

their height -

(A) Sajjangarh — Lilagarh — Raghunathgarh —
Jarga

(B) Jarga — Raghunathgarh — Sajjangarh —
Lilagarh

(C) Jarga — Lilagarh — Sajjangarh —
Raghunathgarh

(D) Raghunathgarh — Jarga — Lilagarh —
Sajjangarh

Which one of the following districts has

received abnormal (60% higher than normal)

rainfall, during monsoon 20217?

(A) Banswara (B) Sikar

(C) Churu (D) Barmer

The Alfisols soil is found in -

(A) Jaipur, Dausa, (B) Kota, Baran, Bundi
Alwar

(C) Sirohi, Pali

Which of the following district holds the

maximum reserve forest area?

(A) Sirohi (B) udaipur

(C) Karauli (D) Baran

‘Dohad Yellow’ is improved variety of which

crop?

(A) Sugarcane

(C) Wheat

(D) Jaisalmer, Barmer

(B) Gram
(D) Groundnut

51.

52.

53.

54.

55.

56.

57.

(A) THTg, dRRT (B) ’MHTTe, AR

(C) xT3, YT, (D) TS, ¥R
frafalaa #§ 9 @9 91 (qRohd IR —
fSret) gafera =€l 82

(A) ARAT — 9RT (B) o fagR — dieTqR
(C) 57 IRTT — WRAYGR (D) TR 1T — ISIYR

PIUT & Sfeary BT B STElR,
@W#ﬁﬁ?sﬁ?ﬁﬁwﬁr@ﬁﬁﬁﬁm

STedry yasl | wid 87?
(A) Bwhw (B) Bshw
(C) Bwkw (D) Bskw

ISR @1 fferiad gaq =ifeal &1 ems
P AR IfaARIE] HH H AR PITY —

(A) TSI — SIeINTG — ARG — SR

(B) ST — YYARNTG — Hool ¢ — AN

(C) SIATN — SN — Houl g — AN

(D) YgATITE — SRAT — WATeINTG — ool

AR 2021 @ SRME, 9 9 9 e el 4

JAMI (AMTI H 60% SATET) a9l s ?

(A) greaTeT (B) ?ﬂw ”
(©) T O e R
e HaT urfl STl € —

(A) SIIQR, 3/, S7etaR (B) dieT, ai, gar H
3§

(C) R=IEY, uren # (D) SR, ITeeR H

f=foRaa & 9 g el & sifdiedw sRfed

I & 87

(A) R (B) SaaR

(C) Tren (D) 9T

'qI8g oIl fbg Bl ) S fhe 87
(A) =7 (B) ==

(©) T (D) el

131B AN

Page 8 of 24



population Is tound least in Rajasthan?

(A) Bikaner and Ajmer (B) Nagaur and Churu

(C) Bikaner and (D) churu and
Nagaur Ganganagar

ST H Uferd Wad HH 9T T 8
(A) fIHTR 3R R (B) MR 3R T

(C) IR 3R ARTR (D) T 3R TR

59. Which one of the following districts, is the 59. ffoRad & ¥ @19 a1 NSTar, IoRIE 6T
largest producer of feldspar in Rajasthan? IfHTH HIUR IHTEH 87
(A) Ajmer (B) Nagaur (A) 3TR (B) AR
(C) Pali (D) Rajsamand (C) drefr (D) ToTEHS
60. \Which one of the following rivers is an example 60. fo=farRag Afedl & 9 @9 ARG T BT
of superimposed river? JETERT &7
(A) Ghaggar (B) Mahi (A) R (B) #HTE!
(C) Banas (D) Jakham (C) g9 (D) SIRgH
61. Read the statements carefully - 61. FHoHl B G Ufgy —
I. The Advocate General Office of Rajasthan |. TSTRRAT T HESTRIaadT HrATerd, Mo e
came into existence on the formation of the JAAFIH 1956 & ATAR, GRA T B
State of Rajasthan as per the e WR IRAA
State Reorganisation Act, 1956. H 3|
Il. G.C. Kasliwal became the first Advocate Il ST Sdard o IS & FH
General for the State of Rajasthan. ERIBCCRIRCEE
Which of the following option is correct? 1 4 9 o9 fAwe 8! 87
(A) Only statement | is correct e (A) DI HUT | 92 &
(B) Only statement Il is correct h (B) BaeT HAF 11 8T B
(C) Both statements | and Il are correct (©) | g 1S B9 T &
(D) Both statements | and Il are incorrect D) | g 11 S HUHF T &
62. For how many months can a person remain a 62. IoRE AT &1 e B ]%HT, Hﬁg
Minister in Rajasthan, without being a member fdd fhas 7EM T IR H H3 UG W
of the Rajasthan Legislative Assembly? I8 APl 87
(A) 3 months (B) 4 months (A) T e (B) IR #EM
(C) 6 months (D) 12 months (€) ©: 78 (D) 9RE #EH
63. Which one is not correct about the Emergency 63. JMUTAdmTelE Uau™l © aR H 7 H | eI
Provisions? AT A T8 B°
(A) Under Article 352, Emergency can be () o] 352 @ dBd, IMUTAdIe AHSd Bl
announced only on written advice by the forRed weafd @ MR W B <™ S
Cabinet. AHT B |
(B) President rule can be imposed in any state (B) Irgufar omd sl -/ # srfSrdad 3 auf
for maximum 3 years. Th AT X8 Hehell 2 |
(C) President rule has been imposed in (C) ITzufey AT ORI g H 4 IR AN
Rajasthan state 4 times. &7 |
(D) The term ‘Armed rebellion’ was inserted (D) 423 WA ERT GRYE § R e
into the Constitution by the 42
Amendment. RISt T |
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65.

66.

67.

68.

69.

70.

71.

Kendra
(C) Gram Vikas Kendra (D) Rajiv Gandhi Seva
Kendra

At present the number of Judges in the
Rajasthan High Court is -

(A) 30 (B) 40

(C) 50 (D) 60

Rajasthan Government has increased the MLA
fund for the Financial Year 2021-22, under the
MLA Local Area Development Scheme upto -
(A) % 3 Crore (B) ¥ 4 Crore

(C) % 5 Crore (D) %10 Crore

Before becoming the Chief Justice of the

Rajasthan High Court, Justice Pankaj Mithal

was the Chief Justice of -

(A) Patna High Court (B) Madras High Court

(C) Gujarat High Court (D) Jammu and
Kashmir High Court

Choose the wrong pair (State Name - Number
of Members of Legislative Assembly) from the
following —

(A) Manipur - 60 (B) Meghalaya - 50

(C) Mizoram - 40 (D) Sikkim - 32

Which of the following statement is incorrect?

(A) Part VI of the Constitution contains Article
152 to Article 237.

(B) Part VI mainly focuses on the State
Government.

(C) Part Vl is further divided into six chapters.

(D) Part VII of the Constitution deals with the
Union territory.

Which Article provides a Uniform Civil Code for

the citizens?

(A) Article 42 (B) Article 44

(C) Article 43 (D) Article 45

When was the Wealth Tax first introduced in

India?

(A) 1991

(C) 1976

(B) 1948
(D) 1957

65.

66.

67.

68.

69.

70.

71.

(A) ST gIdET o (B) UTH JId8T b=
(C) 7q fApTg B (D) Xroiig el Jdr
G-t

aaqE H IoRE ST ST § et
(B) 40

PTG B — .
E
(D) 60

(A) 30

(€) 50

ISR RGR A faemas e faer arern

# 2021-22 % for, foumass A1 qgrax o &

2

(A) 371 T (B) aaxrs T

© s (D) 109xre %

IR J2d T & 9] IRl a7+

A Ug, WIRcH Udw fAgd @'l & =

Tefrer o7

(A) TeT Iz =raTery (B) AT Swd <griTeld

(C) TSRIT S (D) STH—hHR Iz
IR raTeld

frfoalaa # wTad g@ (9 &1 AW —

e Al o1 W) B e —

(A) #fTgR - 60 (B) HErmerd — 50
(C) faIRe - 40 (D) fyfdpe — 32
1 % 4 P B A 27

(A) |G & 91T VI ¥, g8 152 9 AT
237 9 2 |

(B) ¥ VI T WU ¥ T WBR W DHigd
2

(C) 91T VI3 ©: 3regral & faved 2 |

(D) 9T VIl H<ImRId U< & Gefdd 2 |

B ITHT 3G ANNGT & o1y geb FH Rafder
AfedT BT Uy BT 27

(R) 3rgzsa 42 (B) 3rgzs5 44

(C) 3 T=5T 43 (D) argeBT 45

ART § Ugell IR FURT &R Hd U fbar T
o7?

(A) 1991
(C) 1976

(B) 1948
(D) 1957
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73.

74.

75.

76.

77.

(A) CSO has changed from 2004-05 to 2011-12

(B) CSO has changed from 2005-06 to 2011-12

(C) RBI has changed from 1999-2000 to 2004-
05

(D) RBI has changed from 2004-05 to 2011-12

The core concept of the Eleventh Five Year Plan

was -

(A) Growth with social justice and equality

(B) Human resource development

(C) Human well being

(D) Faster and more inclusive growth

Which of the following is a most likely

consequence of implementing the ‘Unified

Payments Interface (UPI)’?

(A) FDI inflows will drastically increase.

(B) Mobile wallets will not be necessary for
online payments.

(C) Direct transfer of subsidies to poor people
will become very effective.

(D) Digital currency will totally replace the
physical currency in about two decades.

Inequality of Income can be measured by —

(i) Lorenz Curve

(i) Gini Coefficient

(iii) Poverty Line

(iv) Relative Poverty

Choose the correct option -

(A) only (i) (B) only (i), (ii) and (iii)

(C) only (i), (ii) and (iv) (D) only (ii), (i) and (iv)

Yellow revolution is not related to which of the

following?
(A) Sesame (B) Mustard
(C) Gram (D) Edible oil

Which one of the following state is the first
state to impose Agricultural Income Tax in
India?

(A) Madhya Pradesh
(C) West Bengal

(B) Maharashtra
(D) Bihar

73.

74.

75.

76.

77.

DY Tl &

(B) W1 T@3M. 9 2005-06 H dqfdy 2011-12
= fear g

(C) IIRANME. 7 1999-2000 T IEADBR 2004-
05 X foar @

(D) aTRAT3ME. 9 2004-05 | FEAB 2011-12
o) fear ©

REd] Ugadi AT Bl A STEERT

off —

(A) FHIRTe =T IR AT & A1 fdar

(B) A9g T+ faara

(C) HT9T JoITS
(D) I 3R 3f wHel faemm

fFrfeiRad 9 & B ‘Talga I geihd

(GUSME) &I AN &R B |IH [T

aiRoTH 87

(A) Th.S1arms. gare # 9 gfg 8l |

(B) 3iFelTsd YTa™ & fofy HidIsel dfele &
SR el BT |

(C) TRial &I Al &1 AET SRRV 98d
HRIR BT |

(D) ST |1 qerhl H fSfTeer HaT o) e 9

| &1 B ST of ol |

JMTT BT IFATAAT BT HUT ST bl & —

(i) TIR~T dh

(ii) R Tqorien .

(iii) TR @7 E

(iv) TUT RIS

|l fawey g —

(A) Tad (i) (B) waet (i), (ii) 3R (iii)

(C) wae (i), (i) AR (iv) (D) Badt (ii), (iii) 3R
(iv)

= 9 Wl wifd feaa a=fog ==

4

(A) forar (B) =4t

(C) 7= (D) WTET Ot

frfalad § 9 &4 |1 I8 9RA H PN

AT DN T dTedl Ugedl NI %?

(A) U (B) FERTS

(C) uf¥=® 7Tt (D) faEgR
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(i) Stamp Duty

(ii) Custom Duty

(iii) Luxury Tax

(iv) Entertainment Tax

Select the answer using the code given below -
(A) (iii) and (iv) (B) (i), (ii) and (iii)

(C) (i) and (iv) (D) (ii), (iii) and (iv)

Ay W @He A WE R BT G
PITY —

(A) (iii) 3R (iv)
(©) (i) 3R (iv)

(B) (i), (ii) M (iii)
(D) (ii), (iii) 3R (iv)

79. Which one of the following is not considered to 79. fy=faRad o 9 f5d S—aad & N oRT 981
be the three phases of e-commerce? HAET ST 87°
(A) Reinvention (B) Preservation (A) gTRaTS (B) wxefor
(C) Globalization (D) Commercialization (C) —HSclTenvoT (D) T ThRT
80. The 15"  Finance Commission  has 80. 15¢ fo=T ST 7 RIwGIRY @ & b st &y
recommended that the vertical share of the afdpa fewier —
states be kept at - (A) 2021-22 3 2025-26 TP 41% I ST
(A) 41% from 2021-22 to 2025-26 - (B) 2020-21 ¥ 2024-25 T 42% Y& T
(B) 42% from 2020-21 to 2024-25 E 0
(C) 40% from 2018-19 to 2022-23 (€) 2018-19 ¥ 2022-23 TP 40% ¥ MY
(D) 43% from 2017-18 to 2021-22 (D) 2017-18 ¥ 2021-22 T 43% &l ST
81. National Food Security Mission (NFSM) on wheat 81. ﬁ_éi Ud Tofed W IS @™ et e
and pulses was launched in Rajasthan in the (Q:[WWQI[) IO § fobg 9y yR®T fhar
year - T
(A) 2006 - 07 (B) 2007 -08 (A) 2006 — 07 & (B) 2007 - 08 #
(©) 2008 - 09 (D) 2009 - 10 (C) 2008 — 09 (D) 2009 - 10 #
82. Match the following and select the correct 82 fforRaa 1 gHferd SIS dorr <= &y Y
answer from the code given below — He W ¥ el IR gAY —
List -1 & — |
Industry e
(1) Rajasthan State Chemical Works (1) TSR T BiFd T
(2) Hitech Glass Factory (2) BTSCH T haes]
(3) Mewar Sugar Mill (3) Ware YR A
(4) ).K. Cement Works (4) B, AHve gag
List -1l GG
Place WA
(i) Didwana (i) SrsaET
(ii) Dholpur (i) oTegR
(iii) Bhupalsagar (iii) UTSTATTR
(iv) Nimbahera (iv) freamesT
Code - HT —
(A) 1 - (ii), 2 - (i), 3 - (iii), 4 - (iv) (A) 1 - (ii), 2 - (i), 3 - (iii), 4 - (iv)
(B) 1-(iv), 2 - (iii), 3 - (ii), 4 - (i) (B) 1 - (iv), 2 - (iii), 3 - (ii), 4 - (i)
(€) 1-(i), 2 - (ii), 3 - (iii), 4 - (iv) (©) 1- (i), 2 - (i), 3 - (iii), 4 - (iv)
(B) 1-(iv), 2 - (ii), 3- (i), 4 - (iii) (D) 1-(iv), 2 - (ii), 3 - (i), 4 - (iii)
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84.

85.

86.

87.

88.

89.

(A) 18" December,
2019
(C) 7t May, 2020

(B) 3r March, 2020

(D) 31t December,

2020

The correct pair of major mustard producing
districts of Rajasthan is -
(A) Ajmer — Nagaur  (B) Bikaner — Jaisalmer
(C) Alwar —Jaipur (D) Karauli — Sawai

Madhopur
The percentage share of Agriculture in Gross
State Value Added at constant (2011 — 12)
prices of Rajasthan for the year 2021 - 22
(Advance estimates) is -
(A) 26.14% (B) 30.45%
(C) 26.34% (D) 28.85%
In the ‘Jal Jeevan Mission Scheme’, the fund
sharing pattern of the centre and the state
respectively for Rajasthan is -

(A) 75:25 (B) 50:50

(C) 25:75 (D) 80:20

In which year, Rajasthan’s first Handicraft
Policy released?

(A) 2019 (B) 2018

(C) 2022 (D) 2021

As per the Industrial Park Rating System (IPRS)
Report 2.0, how many parks from Rajasthan
are rated as ‘Leader’?

(A) 11 (B) 14

(C) 17 (D) 20

Which one of the following (Irrigation Project —

District) is not correctly matched?

(A) Panchna —Karauli (B) Mansi Wakal —
Dungarpur

(C) Orai — Chittorgarh (D) Gudha — Bundi

84.

85.

86.

87.

88.

89.

(A) 18 fegwR, 2019 A (B) 3914, 2020 9

(C) 753, 2020 & (D) 31 fewsR, 2020 &

ISR H U WAl IAGdh [S7ell BT Al

A -

(A) IR — AR (B) IHR — SIAHR

(C) sk — SAYR (D) Fiell — HaTg
AR

ORI & Fhd I oI 9= H 3R
(2011 — 12) ®Hal W a¥ 2021 -22 # @FH
3TFHT)

(A) 26.14% (B) 30.45%

(C) 26.34% (D) 28.85%

IoRE @& for ST Sftaw faeE O #,
P AT 5T DT ABHIRTAT HAI: & —

(A) 75:25 (B) 50:50

(C) 25:75 (D) 80:20

P a¥ ¥ <o ®1 ugell sWIeed Hifd

SIRI & Tg?
(A) 2019 (B) 2018
(C) 2022 (D) 2021

seRead gt T Red (IPRS) RUE 2.0 %
AR, oA # fha Uil & e @&

Y H g fear Ty 27

(A) 11 (B) 14 E
(€) 17 (D) 20

fr=feRad & & o9 (g oI —
forem) gAferT T 27

(A) Ti=oT — BRI

(B) A9 dThel —
SRR
(C) 3RS — FireTe (D) T@T — &I
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91.

92.

93.

94.

95.

(A) Bikaner, Jaisalmer, Kota, Dausa

(B) Dholpur, Alwar, Barmer, Ajmer

(C) Jodhpur, Kota, Alwar, Sri Ganganagar

(D) Ajmer, Kota, Jodhpur, Jaipur

Gadkari

inaugurated and laid the foundation stone of 6

Union Transport Minister Nitin

national highway projects worth 119 km worth
< 2300 crore in which state?

(A) Madhya Pradesh  (B) Rajasthan

(C) Assam (D) uttarakhand
Union Minister Mukhtar Abbas Naqvi
inaugurated the 5% Global Film Tourism

Conclave (GFTC) in which city in July 20227?
(A) Gujarat (B) Bangalore
(C) Mumbai (D) Jaipur

Which of the following countries is elected as

non-permanent member in the UN Security

i

is the Chairman of Sixth Finance

Council (UNSC), for the year 2022-237

(A) Ethiopia (B) Pakistan

(C) India (D) Gabon

Who

Commission of Rajasthan?

(A) K.K. Goyal (B) Dr. Jyoti Kiran

(C) pradhyuman Singh (D) Manik Chand
Surana

In the Budget 2021-22 of Rajasthan, up to what

amount interest free loan was announced

Indira Gandhi Urban Credit Card

Scheme?

(A) % 20 thousand

(C) T 70 thousand

under

(B) T 50 thousand
(D) T 1 lakh

o1.

92.

93.

94.

95.

(A) 1P, TFHR, PicT, T |

(B) €IeTYR, 3TcfaR, ITSHR, 3ToTHR H
(C) SIYR, IeT, JeTaR, SR H
(D) JISTR, PICT, THUYR, STAYR H

D= gRage 73 Afee Tedd 7 foa =
# 2300 HRIS TP 119 fhaMIer &1 6 TS
ISR IRATSTHIRI BT IgeTed AR Rrem=ama
foar?

(A) FeayeeT
(C) 3rwH

(B) IroTveq_
(D) ITRTEIvS

d=g A IR A Thdl o fba wer
e 2022 BT UEG TAEA e cRe™
Pl (GFTC) T Igdred fdhar?

(A) ToreTeT (B) ¥l

(C) Had (D) SrIgR

¥ 2022-23 % foly, Fr=IfaRad § | I QW
DI GIF I§ GRET URYS  (JUATEHL) H
T e & wy A Haiferd fear wam 2?
(A) PRI (B) Urep=arr

(C) ¥rRa (D) f&tF

ORI & B3 fdd SN & 3ege] did
g7
(A) ®b. TIA

(C) ug= g

(B) Sf. iy fawor
(D) #1f<es T=a FRIo”T

ISR & dolc 2021-22 H, sfexr el 2e)
Piec Bre AT H fha- IR b <ol Jad
FUT SUAE] BRI DI TTYOT BT T ?

(A) 2089R % (B) 50 89N X

(C) 7089R X (D) 1 o X
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97.

98.

99.

(A) Adoption of cows in gaushala to the general
public, institution etc.

(B) Adoption of wildlife of biological parks to
the general public, institution etc.

(C) Adoption of the wildlife of the sanctuary to
the general public, institution etc.

(D) Adoption of the birds of birdhouse to the
general public, institution etc.

In the travel list of Planet D ‘The 16 Most

Romantic Cities on Earth’, which city of

Rajasthan has been included in 2022?

(A) Dungarpur (B) Jaipur

(C) Udaipur (D) Jaisalmer

In which city, DRDO launched testing
evaluation facility on Sonar System of Indian
Navy?

(A) Vizag (B) Port Blair

(C) Kochi (D) Thiruvananthapuram

Who among the following of Rajasthan has
been honoured with the Pradhan Mantri
Rashtriya Bal Puraskar in January, 20227

(A) Kiran Sharma (B) Gauri Maheshwari

(C) Deepika Gupta (D) Namita Singh

97.

98.

99.

(A) ST | AT BT A, FGRJAT 7S Bl
& &7 |

(B) Sifdws Sem=il & a=uoild dI STF, el
e BT T 7|

(C) 3IRYY & avgoild Bl TG, AT 37
BT MG AT

(D) GeferTelT & uferal I o, el ffa
BT G AT

e S P A Al T 16 ART IHCH

RIS offF e’ o, o @ f wER @l

2022 # wnfier favar ar 87 E

(A) SRR (B) TRIGR

(C) STuR (D) SHeTHR
SLARELSA. T R AT H AR YOTell &
fore aerr Heui glaem few TR # Te
foar?

(A) o (B) U1 @RR

(©) iz (D) fraiayRa

RIS &1 fereiferiRad # & by e, 2022
H YT ISR qTel YREBR I FHAT fham
AT 87

(A) fbvoT Tl
(C) AftrT T

(B) TR HTRTAR!
(D) T e

100. \What was the name of the cyclonic storm that 100. 5 2022 #, ST BT WIST H A Ahard! THH
came in Bay of Bengal, in May 2022? DT AH FT 2AqT?
(A) Tauktae (B) Gulab (A) AT (B) oTT9
(C) Asani (D) Fani (C) arqri (D) writ

101. |n a file system, a(n) .ooeeveeenneneee. defines a path  101. U wrgel RIeeH #, ... CRBIERECINCIE]
from the current directory. gl I URYIYT HRal & |
(A) Root directory (B) Relative path name (A) ®5T SRRTG! (B) Reifea urer a9
(C) Virtual path name (D) Absolute path (C) adfaret rer < (D) TedTege T S

name
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(A) TR (B) g<x+Ic

(A) Server (B) Internet
(C) Protocol (D) OSI model (C) UreTdid (D) OsI Ared
103. print quality of printer is given in ........... and  103. R &1 U T[OTERIT BT oo H
printing speed is GiVen in .......oee..... e O A BT H AT ST ® |
(A) Pages Per Minute (PPM), Dots Per Inch (A) ST R e (PPM), Sfcd ™R 9 (DPI)
(DPI)
(B) Chromatic Number (CN), Rotations Per (B) ofesds aR (CN), 9 &R fA9e (RPM)
Minute (RDM)
(C) Dots Per Inch (DPl), Pages Per Minute (C) e wR g9 (DPI), RN W) e (PPM)
(PPM)
(D) Dots Per Inch (DPI), Rotations Per Minute (D) Sfcd w g4 (DPI), ICAH WR AFE (RPM)
(RPM)
104. \While working with MS-Word, which option is 104. T Uy, 9€ & A1 BRI BT AT DT fdbey
not available in file menu? WISl A=) H Sl 8l gl 87
(A) Print preview (B) Save () foe g (B) ¥g
(C) Header & Footer (D) Save as (C) TR TS WX (D) g T
105. |n computer spreadsheet, which is true if 105 Tep Hwgex Wedlic H, @1 ¥l & IfQ a0dqH
current or active cell is B4 and you pressed J7 Afhy I B4 ® 3R 3 Uex @l TGI'I'S;
Enter key? g7
(A) You will be inthe  (B) You will be in the (A) 31 et A1H BT (B) oMY AT B5H BT
cell Al cell B5
(C) You will be in the (D) You will be in the (C) 3mu et B3 H I (D) 319 el B6 H I
cell B3 cell B6
106. Ethylene glycol is used - E 106. ZorTgelie ToTsdhicl BT YA fhaT SIrdm & —
(A) as food preservatives (A) grer gRReTHT & w™T |
(B) in making punctures of tubeless tyres (B) TYFerd TRIRI & YR &9 H
(C) in detergent manufacturing (C) feexsr=< fomtor o
(D) as antifreeze (D) gfafed (T=EwiNy) & w9 |
107. Which acid is present in Nettle sting? 107. {S=g S H PIF¥T 3T UTIT STl 57
(A) Tartaric acid (B) Oxalic acid (A) eéR& 3 (B) 3frearfers 3T
(C) Lactic acid (D) Methanoic acid (C) <ifde®d arat (D) 9IS H T
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heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167.1 cc, the
change in internal energy of the sample is -

D TolU 54 DRI ST Holl Dl ITATIRAT BId!
2| gfe Saurfed 919 &1 madT 167.1cc g, al

T BT MARS Hol § gRadd § —

(A) 42.2 joule (B) 84.5 joule (A) 42.2 5[ (B) 84.5 S[o
(C) 208.7 joule (D) 104.3 joule (C) 208.7 St (D) 104.3 T[T
109. |mmunosuppressants such as.............. ,prevent 109 SRIARAURT oo, gfeRIua 3T
:;a::?;ir:s:sted organs from being rejected in &1 TrEEa § &{ﬂ(\lgpd e
(A) Cyclosporine (B) Calcitonin (A) ATZFARAIR (B) dreirer=+
(C) Thrombin (D) Aspirin (C) ohiftgs (D) TR
110. Name the only combat ready fifth-generation 110. 35 & foly AR Ur=dl Gl &1 THATT oTeid,
fighter - g -
(A) Lockheed Martin F-22 Raptor (A) Ffhers AMfdT F-22 ¥R s
(B) Sukhoi PAK FA (B) guIS PAK FA E
(C) Chengdu J-20 (C) =T J-20
(D) Lockheed Martin American F-35 Lightning I (D) difepdle ST MR F-35 SIS I
111, |n the following reaction, identify the salt  111. fy=faRaq ifafbar &, 99 arel oqur @
formed — Ugd Iy —
NH4O0H (aqg) + H2S04 (ag)— .ceveeveereenee. + 2H,0(l) NH4OH (aq) + H2S04(ag)— ceeeveeveeene + 2H,0(l)
(A) (NH4)2S (B) (NH4)3SO4 (A) (NHa4),S (B) (NH4)3SO4
(C) NHiNO; (D) (NHa4)2S04 (C) NH4NO3 (D) (NH4)2S04
112. Match List — | with List— Il and select the correct 112. ?j?ﬁ — | dT ?ﬁ - 19 e HIfvre g fau 7
answer using the code given — BT BT YAN HRD Bl SR DI T DHITSTY —
List - | T — |
(1) Natural polymers (1) w[%rcﬁ gD
(2) Thermosetting polymers (2) AUGE EAD
(3) Protein (3) UIEH
(4) Thermoplastic polymers (4) ITOIECT IEAD
List ~ I o — I
EZ)) Ezlr;r::t:r of amino acids (@) .
(b) IFIAT 37l HT gD
Efi)) Zt\;rf:h and cellulose (c) dbr'_cﬁ'jﬁ .
(d) ¥ Ud Hegelll
Code - ——_
o g ab da e A 28 3h A (A) 1.4, 2-b, 3, 4c  (B) 1-d, 2-3, 3-b, 4-c
e e (C) 1-d, 2-b, 3-c, 4-a (D) 1-a, 2-b, 3-c, 4-d
113. Common bacteria used is genetic engineering ~ 113- SHfcew SSNFRAIRT # Ugwt M aren AHN
is - ST & —
(A) E. Coli (B) Spirillum (A) 3. PITS (B) WrsRetd
(C) Rhizobium (D) Diplococcus (C) rgoifaTH (D) fEiIpIha
131B AN Page 17 of 24



115.

116.

117.

118.

119.

(A) Conversion of Ozone to oxygen is an
endothermic reaction.

(B) Ozone is a triatomic linear molecule.

(C) Ozone has two double bonds.

(D) Low level ozone (or tropospheric ozone) is
an atmospheric pollutant.

Which salt is used to remove the permanent

hardness of water?

(A) caOCl, (B) NaHCO3

(C) NaCOs. 10 H,0 (D) CaS0a4 . 2H,0

The population of a town is 6000. If the number
of males increase by 8% and the number of
females increase by 10%, the population will be
6500. Find the number of females in the town -

(A) 1000 (B) 1200
(C) 1100 (D) 1300

There are four numbers. Average of the first
three numbers is 15 and average of the last
three numbers is 16. If the last number is 19,
the first number is equal to -

(A) 14 (B) 15

(C) 16 (D) 17

If ratio of area of two equilateral triangles is
36:25, then ratio of their perimeters will be -
(A) 6:5 (B) 12:5

(C) 25:16 (D) 36:25

Choose the water image of the given figure —

115.

116.

117.

118.

119.

(A) 3ISIF & 3ifeRiTSTE &1 | v Sy
gfshar 2 |

(B) 3N U&h FIURATES R 31 7 |

(C) 35 # < fgaer B 2 |

(D) JISIE BT fr e W) (A1) (AT &NAvS e
JAISIH) II-GHAYATT UgHH 7 |

Il @ RITE HIRAT BT G2 R B forg farsd

AU BT SYATT fHar ITar 27

(A) caoCl;

(B) NaHCOs

(C) NaCOs. 10 H,0 (D) CaSO4 . 2H,0

U B DI TAAIT 6000 & | Ifa goui B
AT H 8% ®1 ghg Bl © AR AlZersl &
AT § 10% P! gfg B ©, O SITAET 6500
B MUl | e H Afgemei @ w9

3 -
(A) 1000 (B) 1200
(C) 1100 (D) 1300

IR AW & TS | Y I ARl BT
AT 15 2 3R iy dIF A=sl &1 Jiad 16
2| afe <ifqw Gvear 19 8, O YoM Oy ORISR
3 _

(A) 14 (B) 15

(C) 16 (D) 17

T GHATg PGl & &hell BT AU 36:25
2, 1 39 URHT &7 U BN —

(A) 6:5 (B) 12:5
(C) 25:16 (D) 36:25
fay Ty R &1 urn # ufafde g -

e e

(D)
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121.

122.

123.

(R) 38
(€) 31 (D) 36

At simple interest, an amount becomes I 1120
in 4 years and 31200 in 5 years. The principal
amount is equal to -

(A) T 800 (B) ¥ 850

(C) ¥ 750 (D) ¥ 900

An amount ¥ 3550 is divided into X, Y and Z
such that three times of X’s share is equal to 5
times of Y’s share and 7 times of Z’s share. X’s
share is equal to -
(A) % 1050

(C) 1750

(B) ¥ 750
(D) ¥ 1250

Which one of the following diagrams correctly
represents the relationship among Cricket
players, Tennis fans, Students?

(A) (B) C@)
(C) @ (D) @

121.

122.

123.

(A) 38 (B) 65
(C) 31 (D) 36

IRA ST TR UH 07 499 H 11203 @R 5
99 H 1200 ¥ B ORI T T aRIER
3

(A) 800% (B) 850%

(C) 750% (D) 900%

U 17 35503, X, Y3IR Z # 59 UeR fawriord
@ Sl & fb X & 3R &1 A9 AL Y B
R & ue AR 2 $ % & 91 [ B
TRIER 8| X BT AT SRR & —

(A) 10503 (B) 750%

(C) 1750% (D) 1250 %

for= ot & @ o a1 o fhee Raenfsa,
fT goiael ok faenfial © da e @
Bl YR I gaRid Hrar 87

(A) (B) @)
(€) @ (D) @

124. Wwhich answer figure follows the question 124 B IJTR IMPHA U MG & ¥
figure? JMTT?
O A S 2 @) A S ¢
me Al me Al
1) (2) 3) 4) @D (2) 3) 4)
Answer figures — IR ATp AT —
(A) A (B) 0 (A) A (B) 0
( [ J @ (_J
(C) [®) (D) 0 (€ O (D) 0
A o A ®
125. Find the missing term in the following figure - 125. fopy form o < U= 91a BIR —
3C 2B 4A 3C 2B 4A
27A  ? 648 27A 2 64B E
9C 4A 16B 9C 4A 16B
(A) 8B (B) 125C (A) 8B (B) 125C
(C) 8C (D) 1258 (C) 8C (D) 1258
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Ramesh is son of Dinesh. How is Ramesh
related to Bhavesh?
(A) Uncle (B) Father —in—law

(C) Brother —in—law (D) Brother

A | =N N LA

BT YT | TR BT AR A T G 57
(A) =ren (B) R
(D) \1g

LI} <y ~MiEErs NOESNT, TN

(C) ATetT

127. Five students A, B, C, D and E are sitting in a 127. gi foemefl A, B, C, D 3IRE Ts Ufdd H 93 2 |
row. D is on the right of E. B is on the left of E D, E Eﬁms‘sﬁ'\f%\’ B, E Eﬁaﬁsﬁ'\’%\'WA
butis on the right of A. D is on the left of C. Who P SR IR 81 D, C & 911 3R B | o dT§
is sitting on the extreme left? 3R B9 d3T 87
(A) B (B) E b (A) B (B) E
(C) C (D) A E (€) c (D) A

128. \What will come in place of (-)? 128. () & 39 TR T AP
1,4,3,8,7,12,—,16,21 1,4,3,8,7,12,—,16, 21
(A) 13 (B) 19 (A) 13 (B) 19
(C) 14 (D) 15 (C) 14 (D) 15

129. gtatement - A man must be wise to be a good 129. Joef — U 3BT Il 71 & foly U

wrangler. Good wranglers are Al DI gfGHE BT AMRY | 370
talkative and boring. SRTSTE] AT 3R Sa1% 81 € |

Conclusions - I. All the wise persons are boring. fspd — | N gl?g*—lld fdd 918 B ¢ |
Il. All the wise persons are good I1. ) GRgATT fd e STTSTe] Bl

wranglers. =l

(A) Only conclusion Il follows (A) Baat IRy || STTARYT FRAT ©

(B) Only conclusion | follows (B) dadl &Py | 3ITARYT BRI ©

(C) Neither I nor Il follow (C) 1 @ | 3R AT & Il IFARYT Bl ©

(D) Both I and Il follows (D) | 3R Il SFT TRV B &

130. |n a certain code language, if the word ‘GOD’is 130 &l e wroT # IfT ‘GOD’ ¥e& &1 & 78
coded as 78 and the word ‘GREAT’ is coded as AT ‘GREAT’ 3T &1 BT 255 2 a1 v ‘GIFT
255, then how is the word ‘GIFT’ coded in that Bl e el ¥ arm —
language?

(A) 212 (B) 194 (A) 212 (B) 194
(C) 182 (D) 168 (C) 182 (D) 168
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(C) &1y + *mTd = nTTa (D) #1F + IS = AU
132. 31T fadhed gy —

(A) § — 313y, ©IY, 3CAYTIT (B) I — TTCTed, JASIYTYT, ©IY
(C) ¥ — orequTYl, Pel=, 3ray (D) § — o, g, gl
133. et UTer §aR i fbar ' Sad areiel & ol SfEd Ush oreq gy —
(A) TR (B) Frouw
(C) ®yan (D) uRiEf
134. 39[g a1 BT =TT BIfY —
(A) *RT WY AP T | (B) 3H |HI HXN 3MY 40 I¥ T |
(C) TR 3T PR 3713 | (D) i ¥ e | <l |
135. AT Tea HHYRY A BT S&IBRVT 81 67 -
(A) T (B) TR 2
(C) HeER (D) JMHA
136. {5l & B BT Sgd HRd I o fR forg &1 wawT far irar 272
(A FdeE e (B) fawafeqes s
(C) yzdaras forg (D) SgARYT forg
137. (R &1 G AT TN &7 37 & —
(A) 7 fewrs wsT (B) T¥i—a1 fear
(C) RISF—IeT fa (D) 9\ YT &R

138. aRiTq fadhed BT T PIRTY —
(A) 98 IR—AR AT & | — Premared g
(B) M IR F H &1 — WA fhamfaRivor
(© < ast s &1 — e B
(D) 7 ST iR ¥ | — FROmE S
139. 91g Il &7 IH & —

(A e g AR (B) M T ARy
(€ A T AfdreieRoT (D) =™ T JUelerRor
140. {9 fdepey | froTards’ |d=™ &1 YA T8l 83l 27
(A H T & T SR | (B) T AU WMT Y& 1 oIl 7 |
(© ¥ 7z P ST MU HY S| (D) oM wE o & A
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There is no field of human endeavour that has been so misunderstood as health. While health which
connotes well- being and absence of illness has a low profile, it is illness representing the failure of

health which virtually monopolizes attention because of the fear of pain, disability and death.

Till recently, patients had implicit faith in their physician whom they loved and respected, not only for
his knowledge but also in the total belief that practitioners of this noble profession, guided by ethics,
always placed the patient’s interest above all other considerations. This rich interpersonal
relationship between the physician, patient and family has, barring a few exceptions, prevailed till the
recent past, for caring was considered as important as curing. Our indigenous system of medicine like
Ayurveda and Yoga have been more concerned with the promotion of the health of both the body
and mind and with maintaining a harmonious relationship not just with fellow-beings but with nature

itself, of which man is an integral part.

141. Choose the word which is most opposite in meaning of the word ‘concerned’ as used in the passage.
(A) indifferent (B) anxious
(C) solicitous (D) pertained

142. Choose the word which is most nearly the same in meaning to the word ‘connotes’ used in the

passage.
(A) liberates (B) unfollows
(C) except (D) implies

143. | India traditionally the doctors were being guided mainly by which of the following?
(A) Power over patient (B) Professional ethics
(C) High technology (D) Western concept of life

144. Choose the correct English translation of the given sentence —
W O 9w W o 1@ SRl Sd @k |
(A) My father got a pair of shoes for me yesterday. E

(B) My father brought me a pair of shoes yesterday.
(C) My father bought me a pair of shoes yesterday.

(D) My father bring for me a pair of shoe yesterday.
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146.

147.

148.

149.

150.

(A) To take credit for something which someone else did
(B) To steal the peace of mind by constant nagging

(C) A useless attempt

(D) To bring down a person who is acting smart

Give one word substitute for —

‘Bare minimum needed for survival’

(A) sustenance (B) subsistence
(C) sustainable (D) supplement
Choose the one which best expresses the meaning of the given word? (Effuse)
(A) Absorb (B) Transfer
(C) Augment (D) Emanate
Match the following —

(A) Sentences (B) Articles
(i) We will go to Calcutta by .................. Rajdhani Express. (a)a
(ii) The child was happy to see ................... aeroplane. (b) no article
(iii) He has gone for .....ccocveveececesecieens holiday. (c) an
[117) IO milk is good for health. (d) the

(A) (i)-(c), (ii)-(d), (iii)-(a), (iv)-(b) (B) (i)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
(€ (i)-(d), (ii)-(c), (iii)-(a), (iv)-(b) (D) (i)- (b), (ii)-(c), (iii)- (d), (iv)-(a)
Choose the correct answer from the given options —

Why did they pull down the building? (Change the voice)

(A) Why had been the building pulled down?

(B) Why did the building been pulled down?

(C) Why is the building been pulled down?

(D) Why was the building pulled down?

Choose the correct answer from the given options —

Ravi said, “I will bring the book tomorrow.” (Change into Indirect Speech)

(A) Raviinformed that he would bring the book the next day.

(B) Ravi informed that he will bring the book tomorrow.

(C) Raviinformed that he would bring the book tomorrow.

(D) Ravi ordered that he would bring the book the next day.
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IR UG H &l Ul 8 — qol Ui ok fgdi ufd, w_ien {9 W uRle $e Bied ¥ qd uRieri SR
UG & QI Giadl diefd bl [T, el W@ g Ui BT SfeRT Fgl &Y | died §RT SR UFd Bl Hel
Ui 1 37U U S @, gl Ui &1 Jd U ¥ de AR | AlS BR AMEUFIgdd el B ueeli
DI AU | qRIeefT g Ul &l o= |rer of SR |
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